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Section 1 - PaperI-English Language 

Read the passage and answer the questions that follow: 
 
Silk is a natural protein fiber, some forms of which can be 
woven into textiles. The protein fiber of silk is composed 
mainly of fibroin and is produced by certain insect larvae 
to form cocoons. The best-known silk is obtained from the 
cocoons of the larvae of the mulberry silkworm Bombyx 
mori reared in captivity (sericulture). The shimmering 
appearance of silk is due to the triangular prism-like 
structure of the silk fibre, which allows silk cloth to refract 
incoming light at different angles, thus producing different 
colors. Silk is produced by several insects; but, generally, 
only the silk of moth caterpillars has been used for textile 
manufacturing. There has been some research into other 
types of silk, which differ at the molecular level. Silk is 
mainly produced by the larvae of insects undergoing 
complete metamorphosis, but some insects such as 
webspinners and raspy crickets produce silk throughout 
their lives. Silk production also occurs in Hymenoptera 
(bees, wasps, and ants), silverfish, mayflies, thrips, 
leafhoppers, beetles, lacewings, fleas, flies, and midges. 
Other types of arthropod produce silk, most notably 
various arachnids such as spiders. Several kinds of wild 
silk, which are produced by caterpillars other than the 
mulberry silkworm, have been known and used in China, 
South Asia, and Europe since ancient times. However, the 
scale of production was always far smaller than for 
cultivated silks. There are several reasons for this: first, 
they differ from the domesticated varieties in colour and 
texture and are therefore less uniform; second, cocoons 
gathered in the wild have usually had the pupa emerge 
from them before being discovered so the silk thread that 
makes up the cocoon has been torn into shorter lengths; 
and third, many wild cocoons are covered in a mineral 
layer that prevents attempts to reel from them long strands 
of silk. Thus, the only way to obtain silk suitable for 
spinning into textiles in areas where commercial silks are 
not cultivated was by tedious and labor-intensive carding.  

1) The Mineral layers on wild cocoons  

A) gives the silk thread a special Shine  
B) prevents the extraction of long strands of silk thread 
C) makes the Silk thread stronger  
D) prevents the breakdown of silk thread structure  

 

 
 
2) The wild silk used by the ancient Chinese is from  

A) Lacewings  
B) Mulberry silkworm  
C) Caterpillar  
D) Silverfish  

 

 

3) The best known silk is obtained from the cocoons of 
which of the following?  

A) Lacewings silkworm  
B) Raspy cricket  
C) Mulberry silkworm  
D) Webspinners  

 

 
 
4) The shimmer in the Silk is because of the  

A) triangular prism like structure of the Silk fibre  
B) labour intensive carding  
C) different coloured fibres of the silk  
D) fibroin- protein fibre of the silk  

 

 
 
5) Reeling long strands of silk thread from wild cocoons is 
difficult because  

A) wild cocoons are shorter in length  
B) the cocoon is torn by the Pupa emerging from it  
C) the emerging Pupa eats it  
D) silk strands of wild cocoons are brittle  

 

 
 
6) Find the most appropriate opposite meaning word: 
COMMISSIONED  

A) Closed  
B) Started  
C) Finished  
D) Terminated  

 

 
 
7) What is the plural form of Wolf?  

A) Wolfs  
B) Wolves  
C) Wolf's  
D) Wolvies  
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8) Select the correct option.  
Generally speaking, __________ women are mentally 
stronger than men. 

 
A) a  
B) the  
C) an  
D) no article  

 

 
 
9) Select the correct form of verb from the given options.  
I am very happy, my favourite singer ____________ to my 
city next June for a concert. 

 
A) is coming  
B) will come  
C) would be coming  
D) will be coming  

 

 
 
10) Find the most appropriate opposite meaning word: 
SHRINK  

A) Contract  
B) Condense  
C) Develop  
D) Dwindle  
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Section 2 - PaperI-Education and General Awareness 

11) The University Grants Commission selected which of 
the following departments as Centre of Advanced Study 
In Education (CASE) in the year 1963?  

A) Faculty of Education, Bhopal  
B) Faculty of Education, Gwalior  
C) Faculty of Education and Psychology, Mumbai  
D) Faculty of Education and Psychology, Baroda  

 

 
11) ନମିȪମżରୁ େକଉଁଟ ି ବଭିାଗ କୁ େସŠର ଅଫ ଆଡ଼ଭାନȷଡ଼ ƨଡ଼ିଜ଼ ଇଂ 
ଏଡୁେକସନ (ସ.ିଏ.ଏସ.ଇ) ରୂପ େର 1963 ମସହିା େର ୟୁନଭିସǃଟ ି ǲାŠସ 
କମିସନ Ÿାରା ଚୟନ କରା ଯାଇǆଲା?  

A) ଫȻାକଲିȡ ଅଫ ଏଜୁେକସନ, େଭାପାଲ  

B) ଫȻାକଲିȡ ଅଫ ଏଜୁେକସନ, େଗାଆଲିଆର  
C) ଫȻାକଲିȡ ଅଫ ଏଜୁେକସନ ଆŢ ସାଇେକାେଲାଜ,ି ମମୁȴାଇ  
D) ଫȻାକଲିȡ ଅଫ ଏଜୁେକସନ ଆŢ ସାଇେକାେଲାଜ,ି ବେରାଦା  

 

 
12) The National Commission on Teachers–I (1983-85) 
suggested that the term 'Practice Teaching' should be 
replaced with the term  

A) Apprenticeship  
B) Practice Training  
C) Internship  
D) School Training  

 

 
12) ନȻାସନାଲ କମିସନ ଅନ ଟଚିସƽ -I (1983-85)େର ସପୁାରଶି କରି ǆେଲ 
େଯ "Ȅାକିȡସ ଟଚିŏି" ପଦଟ ିନମିȪମżରୁ େକଉଁ ପଦ ସହ ବଦଳ େହବା ଉଚତି.  

A) ଇେŠǜ ସଭି ଇŠନƽସǝି   
B) Ȅାକିȡସ େǺନŏି  
C) ଇŠନƽସǝି   
D) Ưଲୁ େǺନŏି  

 

 
13) Which of the following writs mean 'You may have the 
body'?  

A) Habeas Corpus  
B) Certiorari  
C) Mandamus  
D) Quo Warranto  

 

 

13) ନମିȪ ରିǓ  ଗୁଡକି ମżରୁ କାହାର ଅଥƽ େହଉଛ ି’ୟୁ େମ ହାǟ  ଦ ିବଡ’ି?  

A) େହବଅିǩ  କପƽǩ   
B) େସଟǃଓରାର ି 
C) ମାŢାମǩ   
D) େକȻା ୱାରାେŠା  

 

 
 
14) Which of the following systems of education, based on 
the accepted structure of 10+2+3 was proposed by 
National Policy on Education, 1986?  

A) National system of education  
B) Unitary system of education  
C) Social system of education  
D) Primary system of education  

 

 
 
14) 10+2+3 ସଂରଚନା ଉପେର ଆଧାରିତ ନମିȪ ମżରୁ େକଉଁ ଶିŁା ବȻବƳା 
ନȻାସନାଲ ପଲିସି ଅନ ଏଜୁେକସନ, 1986 Ÿାରା ȄƱାବତି େହାଇǆଲା?  

A) ଶŁିାର ଜାତୀୟ ବȻବƳା  
B) ଶŁିାର ଏକକ ବȻବƳା  
C) ଶŁିାର ସାମାଜକି ବȻବƳା  
D) ଶŁିାର Ȅାଥମକି ବȻବƳା  

 

 
15) The fluid part of blood made of water, salts, and 
protein is known as  

A) plasma  
B) hormone  
C) platelet  
D) myosin  

 

 
15) ରĽର ତରଳ ଅଂଶ ଯାହା ଜଳ, ଲବଣ ଓ େȄାଟନିେର ତଆିରି ତାହାକୁ କଣ 
କୁହାଯାଏ?  

A) ପȲାǐ ମା  
B) ହରେମାନ  

C) େପȲଟେଲଟ  
D) ମାେୟାସନି  
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Section 3 - PaperI-Reasoning 

 

16) What is the time taken in seconds by a 180 m long 
train travelling at a speed of 270 kmph to fully cross a 
milestone?  

A) 3.3  
B) 2.4  
C) 2  
D) 2.7  

 

 
 
16) ଘŠାȄତ ି270 କେିଲାମିଟର େବଗେର ଗତ ିକରୁǆବା 180 ମଟିର ଦୀଘƽ ଏକ 
େǺǜ ଏକ ମାଇଲେƨାǜ ଅତǰିମ କରବିାକୁ େକେତ େସେକŢ େନବ?  

A) 3.3  
B) 2.4  
C) 2  
D) 2.7  

 

 
 
17) In a certain code language AUGUST is written as 
ISCRUS. How is PLANET written in that code language?  

A) ALPTEN  
B) CNRVGP  
C) CJRRGL  
D) CJRVCP  

 

 
 
17) ଏକ ନŵିǃƨ ସାେŋତକି ଭାଷାେର AUGUST କୁ ISCRUS େବାଲି 
େଲଖାଯାଏ । େସହ ିସାେŋତକି ଭାଷାେର PLANET କୁ କଭିଳ ିେଲଖାଯିବ?  

A) ALPTEN  
B) CNRVGP  
C) CJRRGL  
D) CJRVCP  

 

 
 
 
 
 
 
 
 
 
 
 

18) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
Some wallets are watches. 
Some watches are belts. 
All the belts are shoes. 
 
Conclusions: 
I) Some shoes are watches. 
II) Some belts are wallets. 
III) No belt is wallet. 
IV) Some watches are wallets.  

A) Only I and II follow  
B) Only II and III follows  
C) Only II and IV follows  
D) Only I, IV and either II or III follows  

 

 
 
18) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନଅିŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: କଛି ିୱାେଲǓ େହଉଛ ିଘŠା । କଛି ିଘŠା େହଉଛ ିେବǤ ଟ  । ସବୁ େବǤ ଟ 
ଗଡୁିକ େଜାତା । 

ନƦିସƽ:  

I)  କଛି ିେଜାତା ଗଡୁକି ଘŠା ।  

II)  କଛି ିେବǤ ଟ େହଉଛ ିୱାେଲǓ    

lll) େକୗଣସ ିେବǤ ଟ ୱାେଲǓ ନୁେହ ଁ।  

IV) କଛି ିଘŠା େହଉଛ ିୱାେଲǓ । 

 
A) େକବଳ I ଏବଂ  II ଅନୁସରଣ କରŽୁ ।  
B) େକବଳ II ଏବଂ  III ଅନୁସରଣ କରŽୁ ।  
C) େକବଳ II ଏବଂ  IV ଅନୁସରଣ କରŽୁ ।  
D) େକବଳ I, IV ଏବଂ  II କମିȴା IIIରୁ େଗାଟଏି ଅନୁସରଣ କରŽୁ  
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19) Instruction: 
In the following question, mark:  
1, if the question can be answered with the help of 
statement I alone. 

2, if the question can be answered with the help of 
statement II alone. 

3, if the question can be answered with the help of both I 
and II. 

4, if the question can't be answered at all. 
 
What is the time in the clock now? 
Statement I : One hour ago the time was half past 5 pm. 
Statement II : Today is a Sunday. 

 
A) 1  
B) 3  
C) 4  
D) 2  

 

 
 
19) ନେିŵƽଶାବଳୀ: ନମିȪଲିǅତ ȄଶȪେର  
1 ଚƺିଟ କରŽୁ ଯଦ ିେକବଳ ମŽବȻ I ସାହାଯȻେର ȄଶȪର ଉŧର ଦଆିଯାଇପାରୁଛ ି
।  

2 ଚƺିଟ କରŽୁ, ଯଦ ିେକବଳ ମŽବȻ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ 
ପାରୁଛ ି।  

3, ଯଦ ିଉଭୟ I ଏବଂ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ ପାରୁଛ ି।  

4, ଯଦ ିȄଶȪର ଉŧର େକେବ ବ ିଦଆିଯାଇ ପାରବି ନାହ ǂ । 

ଘŠାେର ବŧƽମାନ େକେତଟା ବାଜଛି ି? 

ମŽବȻ I :  ଘŠାଏ ତେଳ ସମୟ ǆଲା ସାେଢ 5ଟା  । 

ମŽବȻ II :  ଆଜ ିରବବିାର । 

 
A) 1  
B) 3  
C) 4  
D) 2  

 

 
 
 
 
 
 
 

20) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
Some fights are acts. 
All the dances are acts. 
 
Conclusions: 
I) Some acts are dances. 
II) Some acts are fights.  

A) Only II follows  
B) Both I and II follows  
C) None of the conclusions follow  
D) Only I follows  

 

 
 
20) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନଅିŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: 
 
କଛି ିମାରପିǓ େହଉଛ ିଅଭିନୟ। 
ସବୁ ନୃତȻ ଗଡୁକି ଅଭିନୟ । 

ନƦିସƽ:  

I) କଛି ିଅଭିନୟ ଗଡୁକି ନୃତȻ ।  

II) କଛି ିଅଭିନୟ ଗଡୁକି ମାରପିǓ । 

 
A) େକବଳ II ଅନୁସରଣ କରŽୁ  

B) ଉଭୟ I ଏବଂ II ଅନୁସରଣ କରŽୁ  
C) େକୗଣସ ିବ ିନƦିସƽକୁ ଅନୁସରଣ କରŽୁ ନାହ ǂ  
D) େକବଳ I ଅନୁସରଣ କରŽୁ  
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Section 4 - PaperI-Teaching Aptitude 

 

21) Which of the following is NOT one of the foundational 
skills of language (English) learning?  

A) Writing  
B) Understanding  
C) Listening  
D) Reading  

 

 
 
21) ନେିମȪାĽ ମżରୁ େକଉଁଠି ଭାଷା (ଇଂରାଜୀ) ଶŁିାର େମୗଳକି େକୗଶଳ ନୁେହ?ଁ  

A) େଲǅବା  
B) ବୁଝବିା  
C) ଶଣୁିବା  
D) ପଢ଼ବିା  

 

 
 
22) According to Pratham’s Annual Status of Education 
2013 report, Which of the following is a great concern 
about class-appropriate learning?  

A) Close to 78 percent of children in Standard III and 
about 50 percent of children in Standard V cannot yet 
read Standard II texts.  

B) Only 53 percent of schools have functional girls’ 
toilets and 74 percent have access to drinking water. 

C) Nationally 29 percent of children drop out before 
completing five years of primary school  

D) There is a teacher shortage of 689,000 teachers in 
primary schools  

 

 
 
22) Ȅଥମŋ Ÿାରା ȄƱୁତ ଶŁିାର ବାଷǃକ Ƴତି ି୨୦୧୩ ରେିପାଟƽ ଅନୁଯାୟୀ, 
େȎଣୀ-ଉପଯĽୁ ଶŁିାକୁ େନଇ ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିଏକ ଚŽିାର କାରଣ ?  

A) ୩ୟ େȎଣୀେର ǆବା ପାଖାପାǅ 78 Ȅତଶିତ ଓ ୫ମ େȎଣୀେର ǆବା 
ପାଖାପାǅ 50 Ȅତଶିତ ପିଲା୨ୟ େȎଣୀର ପାଠ ପଢ ିପାରୁନାହାŽି |  

B) େକବଳ 53 Ȅତଶିତ ବଦିȻାଳୟେର ବାଳକିା େଶୗଚାଳୟ ଓ 74 Ȅତଶିତ 
Ƴାନେର ପାନୀୟ ଜଳର ସୁବଧିା ରହଛି ି|  

C) ଜାତୀୟƱରେର 29 Ȅତଶିତ ପଲିା Ȅାଥମକି ଶŁିାର ପାଂଚବଷƽ ପୂରଣ 
କରବିା ପୂବƽରୁ ପାଠ ଛାଡୁଛŽ ି 

D) Ȅାଥମିକ ବଦିȻାଳୟ ଗଡୁକିେର 689,000 ଶŁିକ ଅଭାବ ଅଛŽ ି 
 

 
 

23) The prenatal factors that affect the growth and 
devleopment of a child are the ones that  

A) influence him during birth  
B) influence him before birth  
C) do not affect him  
D) influence him after birth  

 

 
23) ଜନȯପବୂƽ େଦାଷଗଡ଼ୁକି ଯାହା ପିଲାର ଉƊତ ିଓ ଅଭିବୃŶକୁି Ȅଭାବତି କେର 
ତାହା କପିରି Ȅଭାବତି କରଥିାଏ ?  

A) ଜନȯ ସମୟେର Ȅଭାବତି କେର  

B) ଜନȯ ପୂବƽରୁ Ȅଭାବତି କେର  
C) ଆେଦୗ Ȅଭାବତି କେର ନାହ ǂ  
D) ଜନȯ ପେର Ȅଭାବତି କେର  

 

 
24) Which of the following options is TRUE with reference 
to the tool/technique called 'Force field analysis' applied in 
a school environment?  

A) It is an analysis tool that helps in analysing a student's 
calibre and provides feedback for improvement  

B) It is a budget management tool that the schools can 
use to manage their infrastructure requirements  

C) It is a change management tool used to motivate 
people towards change and understand resistance  

D) It is a useful time management tool which helps in the 
analysis of the school time periods  

 

 
24) ବଦିȻାଳୟେର ବȻବହାର କରାଯାଉǆବା ଉପକରଣ/େକୗଶଳ ଯାହାକୁ 'େଫାସƽ 
ଫିǤ ଡ ଆନାଲିସସି' କୁହାଯାଏ, େସ ସƃଭƽେର ନମିȪମżରୁ େକଉଁ ବକିƝଟ ିସଠକି 
ଅେଟ ?  

A) ଏହା ଏକ ବେିଶȲଷଣ େକୗଶଳ ଯାହାକ ିବଦିȻାଥƽୀମାନŋ ସାମଥƽȻ ବେିଶȲଷଣେର 
ସାହାଯȻ କେର ଏବଂ ସଧୁାର ପାଇଁ ସଚୂନା Ȅଦାନ କେର  

B) ଏହା ଏକ ବȻୟ ଓ ଆୟ ପରଚିାଳନା େକୗଶଳ ଯାହାକ ି ବଦିȻାଳୟଗଡ଼ୁକି 
େସମାନŋ ଭିŧ ିସଂରଚନା ଆବଶȻକତା ପରଚିାଳନାେର ବȻବହାର କରଥିାଏ 

C) ଏହା ଏକ ପରବିŧƽନ ପରଚିାଳନା େକୗଶଳ ଯାହାକୁ େଲାକମାନŋୁ ପରିବŧƽନ 
ଆଡ଼କୁ େȄରତି କରବିା ଏବଂ Ȅତେିରାଧକୁ ବୁଝିବା ପାଇଁ ବȻବହାର କରାଯାଇ 
ଥାଏ  

D) ଏହା ଏକ ଉପେଯାଗୀ ସମୟ ପରଚିାଳନା େକୗଶଳ ଯାହାକି ବଦିȻାଳୟର 
ସମୟସୀମା ବେିଶȲଷଣେର ସାହାଯȻ କେର  
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25) In which year was the National Council of Educational 
Research and Training set up as an autonomous 
organisation by the Government of India ?  

A) 1961  
B) 1959  
C) 1971  
D) 1951  

 

 
 
25) ଭାରତ ସରକାରŋ Ÿାରା ଜାତୀୟ େଶୖŁିକ ଗେବଷଣା ଏବଂ ତାଲିମ ପରଷିଦ 
ଏକ Ƹୟଂ ଶାସତି ଅନୁƪାନ ଭାବେର େକଉଁ ବଷƽ Ƴାପତି କରାଯାଇǆଲା?  

A) 1961  

B) 1959  
C) 1971  

D) 1951  
 

 
 
26) Which of the following activities is NOT a part of 
ending the class?  

A) Summarizing the class by reflecting on the learning 
and the improvements needed  

B) Reminding students what they need to do to prepare 
for the next day  

C) Ensuring all materials used are put at the proper place 
and the classroom is clean  

D) Discussing the behaviour expected from the students 
under various conditions  

 

 
 
26) ନମିȪମżରୁ େକଉଁ ǰିୟାକଳାପ େȎଣୀ େଶଷ କରବିାର ଏକ ଅଂଶ ନୁେହ?ଁ  

A) ଶŁିା ଓ ଆବଶȻକ ǆବା ବକିାଶ ବଷିୟେର Ȅତଫିଳନ କରି େȎଣୀର ସାରାଂଶ 
କରବିା  

B) ପରବŧƽୀ ଦନି ବଦିȻାଥƽୀମାେନ କଣ ȄƱୁତ କରେିବ େସ ବଷିୟେର େସମାନŋୁ 
ମେନ ପେକଇବା  

C) ସମƱ ସାମǲୀ େସଗଡୁକିର ସଠକି Ƴାନେର ରହବିା ଓ େȎଣୀଗୃହ ସଫା ǆବା 
ସନୁƢିିତ କରବିା  

D) ବଭିିƊ ପରƳିିତେିର ବଦିȻାଥƽୀମାନŋ ଠାରୁ ଆଶା କରାଯାଉǆବା ବȻବହାର 
ଉପେର ଆେଲାଚନା କରବିା  

 

 
 
 
 

27) Which of the following skills are NOT related to Life 
skills?  

A) Emotional skills  
B) Social skills  
C) Thinking skills  
D) Memory skills  

 

 
27) ନମିȪମżରୁ େକଉଁ ଦŁତା ଜୀବନ ଦŁତାଗଡୁକି ସହତି ସƓĽୃ ନୁେହ?ଁ  

A) ଭାବାେବଗ ଦŁତା  
B) ସାମାଜକି ଦŁତା  
C) ଭାବବିାର ଦŁତା  
D) ମେନ ରǅବାର ଦŁତା  

 

 
28) Which of the following agencies of education helps the 
child for its full physical growth and motor coordination 
through proper food, nutrition, health habits, exercise and 
immunization programmes?  

A) Library  
B) Radio  
C) Newspapers  
D) Home  

 

 
28) ଶŁିାର ନେିମȪାĽ ଅନୁƪାନଗଡ଼ୁକି ମżରୁ େକଉଁଟ ିଉପଯĽୁ ଖାଦȻ, େପାଷଣ, 
ƸାƳȻାଭȻାସ, ବȻାୟାମ ଏବଂ ଟକିାକରଣ କାଯƽȻǰମ ଗଡ଼ୁକି Ÿାରା ଶଶୁିକୁ ତା’ର 
ଶାରୀରକି ବକିାଶ ଏବଂ ଗତବିǇି ପୂରଣ କରିବାେର ସାହାଯȻ କରଥିାଏ?  

A) ପାଠାଗାର  

B) େରଡଓି  

C) ସମȴାଦପǿ  
D) ଗୃହ  

 

 
29) Which of the following statements is TRUE with 
reference to the aims of education under totalitarian 
system?  

A) Education leads to self-expression or self-gratification 
B) Education ensures that the aims of human life always 

change with changing time  
C) Education enables the individual to control his 

environment and fulfil his possibilities  
D) Education becomes stereotyped and education takes 

the form of indoctrination  
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29) ନମିȪଲିǅତ ମżରୁ େକଉଁ ବĽବȻ ଅǇନାୟକବାଦୀ ବȻବƳା ଅŽଗƽତ ଶିŁା ର 
ଉେŵଶȻ ର ସƃଭƽେର ସତȻ (TRUE) ଅେଟ?  

A) ଶŁିା ଆŮ - ଅଭିବȻĽି କମିȴା ଆŮ-ସŽୁƨି ଆଡକୁ ବଢଚିାଲିଛ ି 
B) ଶŁିା ଏହା ସନୁƢିିତ କରଥିାଏ େଯ ମାନବ ଜୀବନ ର ଉେŵଶȻ ସବୁେବେଳ 

ବଦଳୁǆବା ସମୟ ସହତି ବଦଳଥିାଏ  
C) ଶŁିା ବȻĽିŋୁ ନଜିର ପଜƽȻାବରଣ କୁ ନୟିſତି କରିବା ଓ ତାହାର ସƗାବନାକୁ 

ପୂରଣ କରବିା ପାଇଁ ସŁମ ବନାଇଥାଏ  

D) ଶŁିା ରୁଢୀ େହାଇଯାଇଥାଏ ଓ ଶିŁା ସȭେଦଶକିରଣ ରୂପ େନଇଥାଏ  
 

 
 
30) The question answer method of discussion and 
teaching was propounded by  

A) Freud  
B) Socrates  
C) Aristotle  
D) Spencer  

 

 
 
30) ȄଶȪ-ଉŧର ଆେଲାଚନା ଓ ଶିŁାଦାନ ପŶତକୁି କଏି ବାହାର କରିǆେଲ ?  

A) ȅଏଡ  
B) ସେǰଟǩି  

C) ଆରେିƨାଟǤ  
D) େƶନସǣ  
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Section 5 - PaperII-Odia Language 

 

31) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ିଏକ ତǘ ସମ ଶƑ ଅେଟ ?  

A) ପିଠି  
B) ଗଭୀର  
C) ଆଠ    
D) ଭଉଣୀ  

 

 
 
32) ତǘ ସମ ଧାତୁ 'ଅőƽ୍ ' ର ଅଥƽ ସଚୂାଅ ?  

A) ପୂଜା କରବିା  
B) ଆŋିବା  
C) ଅଜǃବା  
D) ଅପƽଣ କରିବା  

 

 
 
33) ‘ସମȴƆ ପଦ’ େର େକଉଁ ବଭିĽି ହୁଏ ?  

A) ତୃତୀୟା  
B) ଷƪୀ  

  

C) ଚତୁଥƽୀ  
D) ପřମୀ  

 

 
 
34) 'ପାନଆିଁ'- େକଉଁ େȎଣୀ ର ଶƑ ଅେଟ?  

A) େବୈଦଶକି   

B) ତǚ ଭବ  
C) ତǘ ସମ  
D) େଦଶଜ  

 

 
35) 'ଦŽୀ' ଶƑେର େକଉଁ ȄତȻୟ ଲାଗିଛ ି?  

A) ଅǜ  
B) ଈ  
C) ତǜି  

D) ଇǜ  
 

36) ବୁȻŬŧ ିଅନୁସାେର େଯଉଁ ଶƑର ଅଥƽ ଅେନକŋୁ ବୁଝାଇ ବାର ସƗାବନା ǆେଲ 
ମż ନŶିǃƨ ଭାବେର ଜଣକୁ ବା େଗାଟଏି ବƱୁକୁ ବୁଝାଏ ତାହାକୁ କ ିଶƑ କୁହାଯାଏ 
?  

A) େଯୗଗିକ  
B) େଯାଗରୂଢ଼   

C) ଯଗୁȯ  
D) ରୁଢ଼   

 

 
 
37) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ି‘େରାଗୀ’ ଶƑର ବପିରୀତ ଶƑ ?  

A) ଅେରାଗ  
B) ଅେରାଗୀ   
C) ନେିରାଗ  
D) ନେିରାଗୀ   

 

 
 
38) ପଲିାଟ ିେଭାକେର କାƃୁଛ ି।- େରଖାŋିତ ପଦଟ ିେକଉଁ ବଭିĽି େଯାେଗ ଗଠିତ 
େହାଇଛ ି?  

A) Ȅଥମା  
B) ଚତୁଥƽୀ  
C) Ÿତିୀୟ  
D) ତୃତୀୟ  

 

 
 
39) ନମିȪଲିǅତ ମżରୁ େକଉଁ େଯାଡ଼ା ସମପଯƽȻାୟବାଚୀ ଶƑ ନୁହŽଁ ି?  

A) ସଂିହ-େକଶରୀ  
B) େଦବତା-ଅମର   
C) ନଭ-େନǿ   

D) ଗାଭୀ-େଗାମାତା  
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40) ୧୯. ନେିମȪାĽ ମżରୁ େକଉଁଟ ିଉପସଗƽେର ଗଠିତ ଶƑ ନୁେହ ଁ?  

A) ଫିେରାଜ  
B) Ȅକୃƨ  

C) ଉପନୀତ  
D) Ȅଗାଢ  

 

 
 
41) ‘ଘର ଢŋିି କୁƗୀର’ ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ନଜିେଲାକ ଶତƿ   
B) କୁƗୀର େଦǅବା   
C) ଢŋିି କୁଟବିା   
D) େଘାର ଶତƿତା  

 

 
 
42) ତତଲା ପାଣେିର ଘର େପାେଡନ  ି | େରଖାŋିତ ଶƑଟ ିକ ିȄକାର ବେିଶଷଣ 
ଚƺିଟ କର?  

A) ଅବƳା ବାଚକ  

B) ପୂରଣ ବାଚକ   
C) ଗଣୁ ବାଚକ  

D) ତୁଳନାŮକ  
 

 
 
43) ଯǇୁƪରି ଧାମǃକ ǆେଲ | େରଖାŋିତ ଶƑଟ ିକ ିȄକାର ବେିଶଷଣ ଅେଟ ?  

A) ସମȴƆ ବାଚକ  

B) ବେିଧୟ   
C) ତୁଳନାŮକ  
D) ନାମ ବାଚକ  

 

 
 
44) ‘ପାଣି ଛଡ଼ାଇବା’– ରୂଢିଟରି ଅଥƽ କ’ଣ ?  

A) ଆଶା ନ ରǅବା   
B) ସମକŁ ନେହବା   
C) ପୂଜା କରବିା   
D) ଗାେଧାଇବା  

 

 
 

45) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ି‘ତେିରାଧାନ’ ଶƑର ବପିରୀତ ଶƑ ?  

A) ବସିଜƽନ   
B) ଉǚ ଘାଟନ  

C) ଆବାହନ   
D) ଆବଭିƽାବ   
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Section 6 - PaperII-Mathematics 

 

46) After simplification, the expression a(a + 4) + 3a2 − 2a 
+ 10 simplifies to  

A) 3a2+4a+10  
B) 4a2+2a+10  
C) 2a2+2a+10  
D) 5a2+2a+6  

 

 
 
46) ସରଳୀକରଣ େହବା ପେର, ସମୀକରଣ a(a + 4) + 3a2 − 2a + 10 ର 
ସରଳୀକୃତ ରୂପ େହବ  

A) 3a2+4a+10  
B) 4a2+2a+10  
C) 2a2+2a+10  
D) 5a2+2a+6  

 

 
 
47) If the ratio of the LCM and HCF of two numbers is 18 
and their product is 288, then LCM and HCF of the two 
numbers are respectively  

A) 72 and 4  
B) 144 and 16  
C) 36 and 4  
D) 36 and 16  

 

 
 
47) ଦୁଇଟ ିସଂଖȻାର ଲ.ସା.ଗୁ ଏବଂ ଗ.ସା.ଗରୁ ଅନୁପାତ 18 ଏବଂ େସମାନŋର 
ଗଣୁପଳ 288, େତେବ ଦୁଇଟ ିସଂଖȻାର ଲ.ସା.ଗୁ ଏବଂ ଗ.ସା.ଗୁ ଯଥାǰେମ  

A) 72 ଏବଂ 4  

B) 144 ଏବଂ 16  
C) 36 ଏବଂ 4  
D) 36 ଏବଂ 16  

 

 
 
48) A square with a side of 2 m has a circle inscribed in it 
and in turn this circle has a square inscribed in it. If this 
square also has a circle inscribed in it, what is the area of 
the second circle? (Take Π =22/7)  

A) 11/28 sq.m  
B) 11/14 sq.m  
C) 22/14 sq.m  
D) 1 sq.m  

 

48) 2 ମିଟର ପାƤƽ ବଶିƨି େଗାଟଏି ବଗƽେŁǿ ଭତିେର ଏକ ବୃŧ ଅŋିତ େହାଇଛ ି
ଏବଂ ଏହ ିବୃŧ ଭତିେର ଏକ ବଗƽେŁǿ ଅŋିତ େହାଇଛ ି। ଯଦ ିଏହ ିବଗƽେŁǿ 
ମżେର ଏକ ବୃŧ ଅŋିତ େହାଇଛ ିେତେବ Ÿତିୀୟ ବୃŧରେŁǿଫଳ େକେତ? ( Π 
=22/7 ଭାବେର ନଅିŽୁ)  

A) 11/28 ବଗƽ ମିଟର  

B) 11/14 ବଗƽ ମିଟର  

C) 22/14 ବଗƽ ମିଟର  
D) 1 ବଗƽ ମିଟର  

 

 
 
49) If a product is purchased for Rs. 490 and sold for Rs. 
465.50, then the loss percent is  

A) 5%  
B) 20%  
C) 10%  
D) 15%  

 

 
 
49) ଯଦ ିେଗାଟଏି ଉŬାଦ Rs. 490 େର କଣିାଗଲା ଏବଂ Rs. 465.50 ବǰିୟ 
କରାଗଲା, େତେବ Łତରି ପରମିାଣ େହଉଛ ି 

A) 5%  
B) 20%  
C) 10%  
D) 15%  

 

 
 
50) If x + y = 4 and 2x − y = −1, then the value of x, y are  

A) 1,5  
B) 1,3  
C) 4,1  
D) 1,4  

 

 
 
50) ଯଦ ିx + y = 4 and 2x − y = −1, େତେବ x, y ର ମଲୂȻ େହଉଛ ି 

A) 1,5  

B) 1,3  

C) 4,1  
D) 1,4  
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51) If (x+5)2 = 100, the possible value of 'x' is  

A) -5  
B) 10  
C) 15  
D) -15  

 

 
 
51) ଯଦ ି(x+5)2 = 100, େତେବ 'x'ର ସƗାବȻ ମଲୂȻ େହଉଛ ି 

A) -5  

B) 10  

C) 15  

D) -15  
 

 
52) If A= {1,2,3,6,8,10}, then the cardinality of the set A is  

A) 10  
B) 3  
C) 6  
D) 8  

 

 
52) ଯଦ ିA= {1,2,3,6,8,10}, େତେବ େସଟ A ର କାଡǃନାଲିଟ ିେହଉଛ ି 

A) 10  

B) 3  

C) 6  

D) 8  
 

 
53) Equation of a circle with centre (0,0) and radius r is 
equal to  

A) X2+Y2=r2  
B) X2+Y2= r  
C) X2+Y2=0  
D) X2 -Y2=r2  

 

 
53) େକƄ ସହତି ବୃŧ ର ସମୀକରଣ (0,0) ଅେଟ ଓ ଅŶƽ ବȻାସ r 
___________ ସହତି ସମାନ ଅେଟ।  

A) X2+Y2=r2  
B) X2+Y2= r  
C) X2+Y2=0  

D) X2 -Y2=r2  
 

54) Radius of the incircle of an equilateral triangle with 
side 156√3 cm is  

A) 82 cm  
B) 78 cm  
C) 68 cm  
D) 70 cm  

 

 
 
54) 156√3 େସମି ବାହୁ ǆବା ଏକ ସମବାହୁ ǿଭୁିଜ ର ବୃŧ ର ଅŶƽବȻାସ 
__________ ଅେଟ  

A) 82 େସମି  
B) 78 େସମି  
C) 68 େସମି  
D) 70 େସମି  

 

 
 
55) The product of two numbers is 768. If the H.C.F. of 
these numbers is 16, then the greater number is  

A) 98  
B) 32  
C) 24  
D) 48  

 

 
 
55) ଦୁଇଟ ିସଂଖȻାର ଗଣୁଫଳ 768। ଯଦ ିଏହ ିସଂଖȻାଗଡ଼ୁକିର ଗ.ସା.ଗୁ 16 
ହୁଏ େତେବ ବୃହŧମ ସଂଖȻା େହଉଛ ି 

A) 98  
B) 32  

C) 24  
D) 48  

 

 
 
56) The length of the hour hand is 7 cm. What is the area 
of the sector traced by the hour hand after it has moved 
through 4 hours?  

A) 58.33 cm2  
B) 51.33 cm2  
C) 55.33 cm2  
D) 48.33 cm2  
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56) ଘŠା କŠା ର ଲମȴ 7 େସମି ଅେଟ। ଏହା 4 ଘŠା ବୁଲିସାରବିା ପେର ଘŠା 
କŠା Ÿାରା େǺǩ େହାଇǆବା େŁǿର େŁǿଫଳ େକେତ ଅେଟ?  

A) 58.33 େସମି2  
B) 51.33 େସମି2  
C) 55.33 େସମି2  
D) 48.33 େସମି2  

 

 
 
57) The ratio of marks obtained by Anand and Banu is 6 : 
5. If the combined average of their percentage is 68.75 
and their sum of the marks is 275, what is the total marks 
for which the exam was conducted?  

A) 100  
B) 500  
C) 200  
D) 300  

 

 
 
57) ଆନƃ ଏବଂ ବନୁ ପାଇǆବା ନମȴର ଅନୁପାତ 6:5। ଯଦ ି େସମାନŋ 
Ȅତଶିତର ମଳିତି ହାରାହାର ି 68.75 ଏବଂ େସମାନŋ ନମȴରର ସମƨି 275, 
େତେବ. ପରଚିାଳତି େହାଇǆବା ପରୀŁାର ସମୁଦାୟ ନମȴର େକେତ?  

A) 100  
B) 500  

C) 200  
D) 300  

 

 
 
58) If 

  then  =  

A) 
 

B) 7  

C) 
 

D) 2  
 

 
 
 
 
 

58) ଯଦ ି

  ତା’େହେଲ  =  

A) 
 

B) 7  

C) 
 

D) 2  
 

 
 
59) Profit earned by selling a product for Rs. 1060 is 20% 
more than the loss incurred by selling the product for Rs. 
950. The price at which the article is to be sold to earn 
20% profit is  

A) Rs. 1260  
B) Rs. 1200  
C) Rs. 1500  
D) Rs. 1860  

 

 
 
59) େଗାଟଏି ସାମǲୀକୁ Rs.1060 େର ବǰିି କେଲ େଯଉଁ ଲାଭ ହୁଏ ତାହା ଉĽ 
ସାମǲୀକୁ Rs.950 େର ବǰିି କେଲ େଯଉଁ Łତ ିହୁଏ ତା’ଠାରୁ 20% ଅǇକ। ଏହ ି
ସାମǲୀକୁ େକେତ ଟŋାେର ବକିେିଲ 20% ଲାଭ େହବ ତାହା େହଉଛ ି 

A) Rs. 1260  

B) Rs. 1200  
C) Rs. 1500  

D) Rs. 1860  
 

 
 
60) In a class 50% of the students like hockey, 80% like 
cricket and 40% like both. What % of the students like 
none of these games?  

A) 40%  
B) 20%  
C) 10%  
D) 30%  
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60) େଗାଟଏି େȎଣୀେର 50% ବଦିȻାଥƽୀ ହକକୁି ପସƃ କରŽ,ି 80% ǰେିକଟକୁ 
ପସƃ କରŽ ିଓ 40% ଉଭୟକୁ ପସƃ କରŽ ି|େକେତ % ବଦିȻାଥƽୀ ଏଗଡୁକିରୁ 
େକୗଣସ ିେଖଳ ପସƃ କରŽ ିନାହ ǂ?  

A) 40%  
B) 20%  
C) 10%  
D) 30%  
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Section 7 - PaperII-Social Science 

 

61) The boundary between the troposphere and the 
stratosphere is called the  

A) Stratopause  
B) Mesopause  
C) Exopause  
D) Tropopause  

 

 
 
61) ǺେପାƷିୟǣ ଓ  ƩାେଟାƷିୟǣ ର  ଆବŶ ଅřଳକୁ କଣ କୁହାଯ଼ାଏ  ?  

A) ƩାେଟାƷିୟǣ  
B) େମେସାƷିୟǣ  

C) ଏେŅାƷିୟǣ  
D) ǺେପାƷିୟǣ  

 

 
 
62) A change in the constitution can be brought about by 
a simple majority, in which type of constitution among the 
following options?  

A) Difficult  
B) Simple  
C) Flexible  
D) Rigid  

 

 
 
62) ନେିମȪାĽମାନŋ ମżରୁ େକଉଁ Ȅକାର ସƖିଧାନେର େକବଳ ଏକ ସାଧାରଣ 
ସଂଖȻା ଗରƪିତା Ÿାରା ସƖିଧାନେର ପରିବŧƽନ ଅଣାଯାଇପାରବି?  

A) ଜଟଳି  

B) ସରଳ  
C) ନମନୀୟ  
D) କେଠାର  

 

 
 
63) In which year did Subhash Chandra Bose resign from 
Presidentship of the Congress?  

A) 1942  
B) 1939  
C) 1938  
D) 1940  

 

 

63) େକଉଁ ବଷƽ ସଭୁାଷ ଚƄ େବାଷ କଂେǲସ ର ଅżŁ ପଦ ରୁ ପଦତȻାଗ 
କରǆିେଲ?  

A) 1942  
B) 1939  

C) 1938  
D) 1940  

 

 
 
64) Which of the following dynasties was founded by Sher 
Shah?  

A) Rajput dynasty  
B) Sur dynasty  
C) Mughal dynasty  
D) Sikh dynasty  

 

 
 
64) ନେିମȪାĽ ମżରୁ େକଉଁ ରାଜବଂଶ େଶǣ  ଶାହŋ Ÿାରା Ƴାପିତ େହାଇǆଲା?  

A) ରାଜପୁତ ରାଜବଂଶ  
B) ସରୁ ରାଜବଂଶ  
C) େମାଗଲ ରାଜବଂଶ  

D) ଶǊି ରାଜବଂଶ  
 

 
 
65) Which of the following options refer to the composition 
of the upper layer of the Earth’s crust?  

A) Oceans  
B) Continents  
C) Sial  
D) Sima  

 

 
 
65) ନେିମȪାĽ ମżରୁ େକଉଁଟ ିଭୂŭକର ଉପର Ʊର?  

A) ମହାସାଗର  

B) ମହାେଦଶ  

C) ସଆିǤ   
D) ସୀମା  
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66) Which of the following words in Sikh means the path 
of righteousness and proper religious practice?  

A) Gnyan  
B) Granth  
C) Sangh  
D) Dharm  

 

 
 
66) ଶǊି େର ନମିȪଲିǅତ ମżରୁ େକଉଁ ଶƑର ଅଥƽ ଧାମǃକତା ଏବଂ ଉଚତି ଧାମǃକ 
ଅଭȻାସ?  

A) ŗାନ  

B) ǲƂ  
C) ସଂଘ  

D) ଧମƽ  
 

 
 
67) Which of the following reports was a result of a 
challenge to prepare a Draft Constitution by the Congress 
given by the Secretary of State for India, Lord 
Birkenhead?  

A) Prasad Report  
B) Tilak Report  
C) Gandhi Report  
D) Nehru Report  

 

 
 
67) ନେିମȪାĽ ମżରୁ େକଉଁ ରେିପାଟƽ ଭାରତ ପାଇଁ ରାଜȻ ସଚବି ଲଡƽ ବେିକƽǜ େହǕ  
Ÿାରା କଂେǲସ ଏକ ସƖିଧାନ ଖସଡ଼ା ȄƱୁତ ି ପାଇଁ କରାଯାଇǆବା ଆହȴାନର 
ପରଣିାମ?  

A) Ȅସାଦ ରେିପାଟƽ  
B) ତଳିକ ରେିପାଟƽ  
C) ଗାƆୀ ରେିପାଟƽ  
D) େନହରୁ ରେିପାଟƽ  

 

 
 
68) Who among the following conduct the elections for 
municipalities in India?  

A) Chief Minister  
B) Central Election Commission  
C) State Election Commission  
D) Legislative Assembly  

 

 

68) ନେିମȪାĽମାନŋ ମżରୁ କଏି ନଗରପାଳକିାର ନବିƽାଚନ ପରିଚାଳନା କରŽ?ି  

A) ମଖୁȻମſୀ  
B) େକƄ ନବିƽାଚନ କମଶିନ  

C) ରାଜȻ ନବିƽାଚନ କମଶିନ  
D) ବଧିାନ ସଭା  

 

 
 
69) Which of the following layers of the Earth's 
atmosphere is surrounded by a strong magnetic field?  

A) Magnetosphere  
B) Mesosphere  
C) Stratosphere  
D) Troposphere  

 

 
 
69) ନେିମȪାĽ ମżରୁ ପୃǆବୀର ବାୟୁମŢଳର େକଉଁ ଅଂଶ ଶĽିଶାଳୀ ଚୁମȴକୀୟ 
େŁǿ Ÿାରା ପରେିବƨତି?  

A) ମȻାେňେଟାƶିୟର  

B) େମେଜାƶିୟର  
C) Ʃାେଟାƶିୟର  
D) େǺାେପାƶିୟର  

 

 
 
70) Who among the following was the chairman of union 
constitution committee?  

A) Jawaharlal Nehru  
B) J.B. Kripalani  
C) Dr. Krishnamachari  
D) Dr. B.R. Ambedkar  

 

 
 
70) ନେିମȪାĽମାନŋ ମżରୁ କଏି ସଂଘୀୟ ସƖିଧାନ ସମତିରି ଅżŁ ǆେଲ?  

A) ଜବାହରଲାଲ େନେହରୁ  
B) େଜ.ବ.ି ǰପିାଲିନ ି 

C) ଡ. ǰƫିାମାଚାରୀ  
D) ଡ. ବ.ିଆǣ . ଆେମȴଦକର  
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71) Who among the following appoints the Administrator 
for Union Territory in India?  

A) Chief Minister  
B) President  
C) Governor  
D) Prime minister  

 

 
 
71) ନେିମȪାĽ ମାନŋ ମżରୁ କଏି ଭାରତେର େକƄଶାସତି ଅřଳର Ȅଶାସକ 
ନଯୁିĽ କରŽ?ି  

A) ମଖୁȻମſୀ  
B) ରାƩପତ ି 
C) ରାଜȻପାଳ  

D) Ȅଧାନମſୀ  
 

 
 
72) Oceanic resources beyond 200 nautical miles of the 
Exclusive Economic Zone, is the BEST example for which 
of the following types of resources?  

A) Abiotic Resources  
B) National Resources  
C) Non-Renewable Resources  
D) International Resources  

 

 
 
72) ମହାସାଗରେର 200 ନଟକିାǤ ମାଇǤ ପେର ǆବା Ƹତſ ଅଥƽେନତୖକି ଅřଳ, 
ନମିȪଲିǅତ ମżରୁ େକଉଁ Ȅକାରର ସମȴଳର ସେବƽାŦɲ ƨ ଉଦାହରଣ ଅେଟ?  

A) ଅେଜବୖ ସମȴଳ  
B) Ȅାକୃତକି ସƓଦ  

C) ନବୀକରଣ ଅେଯ଼ାଗȻ ସମȴଳ  
D) ଅŽଯ଼ƽାତୀକ ସମȴଳ  

 

 
 
73) Which among the following imaginary lines are used 
to determine the time of a place on the surface of the 
Earth?  

A) Latitudes  
B) Equator  
C) Parallels  
D) Meridians  

 

 
 

73) ପୃǆବୀପୃଷȤେର େକୗଣସି Ƴାନର ସମୟ ଜାଣବିା ପାଇଁ ନମିȪଲିǅତ 
ମżରୁ   େକଉଁ କାƝନକି େରଖା ବȻବହାର କରାେହାଇଥାଏ?  

A) ଅŁାଂଶ େରଖା  
B) ବଷୁିବ େରଖା  
C) ସମାŁ େରଖା  
D) ମżƃନି େରଖା  

 

 
 
74) What is the distance between two longitudes at the 
poles?  

A) 110.3 km  
B) 111.7 km  
C) 111.3 km  
D) 0 km  

 

 
 
74) େମରୁ ନକିଟେର ଦୁଇଟ ିȁାଘମିାର ଦୁରତା େକେତ େହାଇଥାଏ?  

A) 110.3କ.ିମି  
B) 111.7କ.ିମି  
C) 111.3 କ.ିମି  
D) 0 କ.ିମି  

 

 
 
75) Taxol is an antimitotic agent used to treat various 
forms of cancer. From the bark of which of the following 
trees is this derived?  

A) Pine tree  
B) Eucalyptus tree  
C) Yew tree  
D) Alder tree  

 

 
 
75) ବଭିିƊ Ȅକାରର କକƽଟ େରାଗ  ଉପଚାର କରବିାେର ଟȻାେŅାǤ , ଏକ Ȅକାର 
ଆŠବିଡ ିବା ȄତପିŢି ଅେଟ. ଏହା େକଉଁ ଗଛର ଛାଲିରୁ ȄƱୁତ େହାଇଥାଏ ?  

A) ପାଇǜ ଗଛ  

B) ନୀଳଗିରି ଗଛ  

C) ଇୟୁ ଗଛ  

D) ଆଲȣǣ ଗଛ  
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Section 8 - PaperII-Science 

 

76) Which one of the following reactions are used in black 
and white photography?  

A) Burning of coal  
B) Iron nails dipped in copper sulphate solution  
C) Reaction of calcium oxide with water  
D) Decomposition of silver bromide by sunlight  

 

 
 
76) ନମିȪମżରୁ େକଉଁ Ȅତǰିିୟା ବȲାକ ଏŢ ହȴାଇଟ େଫାେଟାǲାଫିେର ବȻବହାର 
କରାଯାଏ?  

A) େକାଇଲା ଜଳବିା  
B) ଲୁହା କŠାକୁ କପର ସଲେଫଟ ȁବଣେର ବୁଡାଇବା  
C) ଜଳ ସହତି କȻାଲସୟିମ ଅŅାଇଡର Ȅତǰିିୟା  
D) ସଯୂƽȻକରିଣ Ÿାରା ସଲିଭର େȆାମାଇଡର ଅପଘଟନ  

 

 
 
77) According to the work-energy theorem, the work done 
by the net force on a particle is equal to the change in its  

A) potential energy  
B) angular momentum  
C) linear momentum  
D) kinetic energy  

 

 
 
77) କାଯƽȻ-ଶĽି ଉପପାଦȻ ଅନୁଯାୟୀ, ଏକ କଣିକା ଉପେର ସମଦୁାୟ ବଳ Ÿାରା 
ସଂପାଦତି କାଯƽȻ ଏହାର େକଉଁǆେର ପରିବŧƽନ ସହ ସମାନ  

A) Ʊିତଜି ଶĽି  

B) େକାଣୀୟ ଗତ ି 
C) େରǅୖକ ଗତ ି 
D) ଗତଜି ଶĽି  

 

 
 
78) Read the following statements and choose the 
CORRECT option. 
 
(i) Lysosomes are non-membrane bound vesicular 
organelles in the structure of an animal cell. 
(ii) Lysosomes contain enzymes that are capable of 
digesting carbohydrates, proteins, lipids and nucleic 
acids.  

A) (i) is FALSE and (ii) is TRUE  
B) (i) is FALSE and (ii) is FALSE  
C) (i) is TRUE and (ii) is TRUE  
D) (i) is TRUE and (ii) is FALSE  

 

 
 
78) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) ଲାଇେସାେଜାǡ  େହଉଛ ିଝơିୀ Ÿାରା ଆŒାଦତି େଫାଟକା ଭଳ ିଅŏ ଯାହା ଏକ 
Ȅାଣୀ େକାଷେର ଥାଏ |  

(ii) ଲାଇେସାେଜାǡ  େର ଏśାଇମ ଥାଏ ଯାହା କାେବƽାହାଇେǼଟ, େȄାଟନି, ଲିପଡି 
ଓ ନୁȻକିȲକ ଅମȲ ପାଚନ କରିବାେର ସŁମ | 

 
A) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  
B) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  

C) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  
D) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  

 

 
 
79) Which of the following organisms have well-organised 
nucleus with a nuclear membrane?  

A) Sulfolobus  
B) Escherichia  
C) Streptomyces  
D) Diatoms  

 

 
 
79) ନମିȪମżରୁ େକଉଁ ଅଣୁଜୀବର ନୁȻକȲୀୟ ଝơିୀ ସହତି ଏକ ସ-ୁସଂଗଠତି 
ନୁȻକିȲଅସ ଥାଏ?  

A) ସଲେଫାେଲାବସ  

B) ଏେƯରଚିଆି  
C) େƩେପȡାମାଇେସସ  

D) ଡାଏଟମȷ  
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80) Read the following statements and choose the 
CORRECT option. 
 
(i) Halophytes are high salinity tolerant plants. 
(ii) Xerophytes are plants that have adapted to the 
conditions where the rate of loss is potentially greater 
than the availability of water.  

A) (i) is TRUE and (ii) is TRUE  
B) (i) is TRUE and (ii) is FALSE  
C) (i) is FALSE and (ii) is FALSE  
D) (i) is FALSE and (ii) is TRUE  

 

 
80) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) ହାେଲାଫାଇǓ  ଗଡୁକି ଉő ଲବଣାĽ ସହନଶୀଳ ଉŹିଦ | 

(ii) େଜେରାଫାଇǓ  ଗଡୁକି େହଉଛ ିେସହ ିଉŹିଦ ଯିଏ ଏପର ିପରƳିିତେିର ଅନୁକୂଳ 
େହାଇଛŽ ିେଯଉଁଠାେର ଜଳର ଉପଲƒତା ତୁଳନାେର Łତରି ହାର ଅǇକ ଥାଏ | 

 
A) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  

B) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  
C) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  

D) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  
 

 
 
81) In which of the following habitats, will plants usually 
have spines instead of leaves?  

A) Aquatic Region Habitat  
B) Grasslands Region Habitat  
C) Mountain Region Habitat  
D) Desert Region Habitat  

 

 
 
81) ନମିȪମżରୁ େକଉଁ ଆବାସେର, ଉŹିଦଗଡୁକିେର ସାଧାରଣତଃ ପǿ ବଦଳେର 
କŠା ରହଥିାଏ?  

A) ଜଳୀୟ ଆବାସ  
B) ଚାରଣଭୂମି ଆବାସ  

C) ପାହାଡ ଆବାସ  
D) ମରୁଭୂମି ଆବାସ  

 

 
 
 
 

82) Which of the following organelles of a plant cell helps 
in oxidative phosphorylation?  

A) Nucleus  
B) Golgi bodies  
C) Mitochondria  
D) Lysosomes  

 

 
 
82) େଗାଟଏି ଉŹିଦ େକାଷର ନମିȪ ଅŏଗଡୁକି ମżରୁ େକଉଁଟ ି ଅŅେିଡଟଭି 
ଫସେଫାରେିଲସନେର ସାହାଯȻ କେର?  

A) ନୁȻକିȲଅସ  

B) ଗǤ ଗି ବଡି  
C) ମାଇେଟାକţଆି  

D) ଲାଇେସାେଜାମ  
 

 
83) In old age, arteries carrying blood in the human body 
become narrow resulting in an increase in the blood 
pressure. This follows from  

A) Archimede's principle  
B) Bernoulli's law  
C) Stoke's law  
D) Pascal's law  

 

 
 
83) ବୃŶାବƳାେର ମଣିଷର ଶରୀରେର ରĽବାହୀ ଧମନଗିଡ଼ୁକି ସŋୁଚତି 
େହାଇଯାଏ ଫଳେର ରĽଚାପ ବୃŶ ିପାଏ। ଏହା କାହାକୁ ଅନୁସରଣ କେର  

A) ଆକƽେମଡǩି ŋ ସŶିାŽ  

B) ବେťƽାଲିŋ ନୟିମ  
C) େƨାǉ ŋ ନୟିମ  
D) ପାƯାଲŋ ନୟିମ  

 

 
 
84) A rubber cord catapult has cross-sectional area 25 
mm2 and initial length of rubber cord is 10 cm. It is 
stretched to 5 cm and then released to project a missile of 
mass 5 g. Taking Yrubber = 5 x 108 N/m2, velocity of 
projected missile is  

A) 200 ms-1  
B) 20 ms-1  
C) 100 ms-1  
D) 250 ms-1  
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84) ଏକ ବାଟୁଳରି ǰସ େସŅନ େŁǿ 25 mm2 ଏବଂ ȄାରƗିକ ରବର 
େଡାରର ଲମȴ େହଉଛ ି10 cm | ଏହାକୁ 5 cm ପଯƽȻŽ ଟଣା ଗଲା ଏବଂ  5 
g  ଭାର ିଏକ େŁପଣାƲକୁ ȄେŁପ କରାଗଲା | ȄେŁପତି େŁପଣାƲଟରି େବଗ 
େକେତ ? Yrubber = 5 x 108 N/m2ନଆିଯିବ 
   

A) 200 ms-1  

B) 20 ms-1  
C) 100 ms-1  

D) 250 ms-1  
 

 
85) Surface tension of water is 0.072 N m-1. The excess 
pressure inside a water drop of diameter 0.6 mm is (Given, 
cosθ = cos0° = 1)  

A) 72 N/m2  
B) 120 N/m2  
C) 480 N/m2  
D) 240 N/m2  

 

 
 
85) ଜଳର ଉପର ଭାଗର ଚାପ 0.072 N m-1। 0.6 mm ବȻାସ ବଶିƨି ଏକ 
ଜଳ ବƃୁି ଭତିେର ଅତରିĽି ଚାପ (ଯଦ ି,cosθ = cos0° = 1) େହଉଛ ି 

A) 72 N/m2  

B) 120 N/m2  
C) 480 N/m2  

D) 240 N/m2  
 

 
 
86) Which of the following metals is a least reactive metal?  

A) Gold  
B) Lead  
C) Iron  
D) Tin  

 

 
 
86) ନମିȪମżରୁ େକଉଁ ଧାତୁ ସବୁଠାରୁ କମ Ȅତǰିିୟାଶୀଳ?  

A) ସନୁା  
B) ସୀସା  
C) ଲୁହା  
D) ଟଣି  

 

 

87) Which of the following options is NOT classified under 
the Kingdom Fungi?  

A) Worms  
B) Yeast  
C) Moulds  
D) Mushroom  

 

 
 
87) ନମିȪମżରୁ େକଉଁ ବକିƝଟ ିକବକ ଜାତି ଅǇନେର ବଗƽୀକୃତ େହାଇଥାଏ?  

A) ଜଆି/କୃମି  

B) ଇƨ  
C) ଫିƓ ି 

D) ଛତୁ  
 

 
 
88) A projectile is fired from the surface of the earth with 
a velocity of 5 m/s and angle θ with the horizontal. Another 
projectile fired from another planet with a velocity of 3m/s 
at the same angle follows a trajectory which is identical 
with the trajectory of the projectile fired from the earth. The 
value of the acceleration due to gravity on the planet is 
(Given, g = 9.8 ms-2)  

A) 3.5 ms-2  
B) 16.3 ms-2  
C) 5.9 ms-2  
D) 110.8 ms-2  

 

 
 
88) 5 m/s େବଗେର ଏବଂ ଅନୁȄƳ ଭାବେର θ େକାଣେର ଏକ େŁପଣାƲ 

ଭୂପୃƪରୁ ନେିŁପ କରାଗଲା । ଅନȻ ଏକ ǲହରୁ ଅନȻ ଏକ େŁପଣାƲ 3m/s 
େବଗେର ସମାନ େକାଣେର ପǆୃବୀପƪୃରୁ ନେିŁପ କରାଯାଇǆବା େŁପଣାƲର 

ସାଦୃଶȻ ȄେŁପଣ ପଥ ଅନୁସରଣ କେର । ǲହର ଗୁରୁŭାକଷƽଣ କାରଣରୁ ŭରଣର 
ମଲୂȻ େହଉଛ ି(ଯଦ ି g = 9.8 ms -2)  

A) 3.5 ms-2  

B) 16.3 ms-2  
C) 5.9 ms-2  

D) 110.8 ms-2  
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89) A force acts on a 30 g particle in such a way that the 
position of the particle as a function of time is given, x = 3t 
- 4t2 + t3, where x is in meters and t is in second. The work 
done during the first four seconds is  

A) 530 mJ  
B) 576 mJ  
C) 490 mJ  
D) 450 mJ  

 

 
89) 30 ǲାମ ଓଜନର ଏକ ବƱୁ ଉପେର ଏକ ବଳ ଏପର ିଭାବେର Ȅେୟାଗ 
କରାଗଲା େଯ, ଏହ ିବƱୁର Ƴିତ ିସମୟǰେମ  x = 3t - 4t2 + t3 େର ପହřଥିାଏ, 
େଯଉଠଁାେର xମିଟରେର ଏବଂ t େସେକŢେର ରହଛି।ି Ȅଥମ 4 େସେକŢେର 
ସƓାଦତି େହାଇǆବା କାଯƽȻ େହଉଛ ି 

A) 530 mJ  
B) 576 mJ  
C) 490 mJ  

D) 450 mJ  
 

 
 
90) Read the following statements and choose the 
CORRECT option.  
(i) Sporulation is a form of asexual reproduction which is 
common in algae and fungi.  

(ii) Spores are special reproductive structures that may be 
motile or non-motile. 

 
A) (i) is TRUE and (ii) is FALSE  
B) (i) is TRUE and (ii) is TRUE  
C) (i) is FALSE and (ii) is TRUE  
D) (i) is FALSE and (ii) is FALSE  

 

 
 
90) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) େƶାରୁେଲସନ େହଉଛ ିଲିŏ ବହିୀନ Ȅଜନନର ଏକ ରୂପ ଯାହା ଆଲେଗ ଓ 
କବକଗଡୁକି ଠାେର ସାଧାରଣ |  

(ii) େƶାରଗଡୁକି େହଉଛ ି ବେିଶଷ Ȅଜନନ ସଂରଚନା ଯାହା ଚଳନଶୀଳ ବା 
ଚଳନହୀନ େହାଇପାରŽ ି| 

 
A) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  
B) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  

C) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  
D) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  
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Question Paper No:  53676_111  

Answer Key 

1.  B 
2.  C 
3.  C 
4.  A 
5.  B 
6.  D 
7.  B 
8.  D 
9.  A 
10.  C 
11.  D 
12.  C 
13.  A 
14.  A 
15.  A 
16.  B 
17.  C 
18.  D 
19.  A 
20.  B 
21.  B 
22.  A 
23.  B 
24.  C 
25.  A 
26.  D 
27.  D 
28.  D 
29.  D 
30.  B 

 

31. B 
32. A 
33. B 
34. D 
35. D 
36. B 
37. C 
38. D 
39. C 
40. A 
41. A 
42. A 
43. B 
44. A 
45. D 
46. B 
47. A 
48. C 
49. A 
50. B 
51. D 
52. C 
53. A 
54. B 
55. D 
56. B 
57. C 
58. D 
59. B 
60. C 

 

61.  D 
62.  C 
63.  B 
64.  B 
65.  C 
66.  D 
67.  D 
68.  C 
69.  A 
70.  A 
71.  B 
72.  D 
73.  D 
74.  D 
75.  C 
76.  D 
77.  D 
78.  A 
79.  D 
80.  A 
81.  D 
82.  C 
83.  B 
84.  D 
85.  C 
86.  A 
87.  A 
88.  A 
89.  B 
90.  B 
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